Refresher Course Math 1050 and 1060 Practice Problems Set 7 Fall 2007

into fractions with linear denominators.

1.) Decompose —;

Jx11 N /3 = AleH) +BG-
X=4)(x8B) x-y i h Y

[x Y)(x+t3)

AtB=5  A=3_y
IA-4B =1 (;q t }??7
3-8)-4p =2

7’3B““-{ﬁ:z

2.) Solve the system of equations: {

x+y=4
x—y=2'

'X-\-YZ(‘I X = {-
Y*y:l /

A-y)-y=2
Ll-7,>/ =1
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3 =
3.) Solve the system of equations: {x y=0 .

y=x
—3 —
N I,

X (2<'|)(><+i): 6

0 CXDRONIINERTY

x—-y=0

) -x+y=4
4.) Solve the system of equations:

)= X

xX*+y=3"

X+ ((ay) = 3

XL*X‘P[:O
ESIEE R

2 - \“’1}

Page 2 of 4



Refresher Course Math 1050 and 1060 Practice Problems Set 7 Fall 2007

x+y-3z=-1
5.) Solve the system of equations: {y—z=0 . (Solution should end up being:
—-x+2y=1
infinitely many solutions).
)= 2
y =" X=-ltty

vy = =
—(*{Hy)—ﬂ\/ =
[«2y+Z\/1/
=) =]
=) 00
50/ '\A‘ﬁ/\ﬂ/;[f/\ mcmy m/ouL/'o/?f.
Aﬂy JL//If/€ o+ the #0//77;
[« b, b) 4, b are red

Num éﬁ/y
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6.) Sketch the region containing all points that satisfy the system of inequalities.

2x+y<?2 \ _ .
{x+3;>2 / < Z ZX
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